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PRACTICE QUESTIONS



Each question below has one blank, which is indicating that 

something has been omitted. Find out which option can be used 

to fill up the blank in the sentence to make it meaningfully 

complete.



Religious commitments go much ____________ than 

intellectual explanations.

1. Converged

2. Climatic

3. Deeper

4. Managerial

5. Preclude



Modern science and technology _______________

human beings to control natural forces more effectively.

1. Populates

2. Empower

3. Interprets

4. Adjourns

5. Reschedule



The customer also threatened to _______________

his business relationship with the employer.

1. Aspect

2. Ponder

3. Terminate

4. Appease

5. Increase



For college students to do a part-time job will exert a 

_________________ influence on their personality and 

life.

1. Disfiguring

2. Yearning

3. Blameless

4. Profound

5. Aloof



The reduction in white blood cell counts lowers the 

________________ to disease.

1. Reaction

2. Acceptance

3. Resistance

4. Magnificence

5. Reliability



Mass violence __________________to unsettle the 

very foundations of government.

1. Inserted

2. Braved

3. Befriended

4. Threatened

5. Essential



The minister said that such statements would 

____________ lower the morale of our soldiers.

1. Curiously

2. Crookedly

3. Definitely

4. Unclearly

5. Unclearly



The witness ______________ the suspect as short, dark-

skinned and bearded.

1. Committed

2. Described

3. Praised

4. Disappointed

5. Pacified



He remained strongly_______________ that an 

agreement could be reached.

1. Inactive

2. Complicated

3. Generous

4. Optimistic

5. Playful



__________________ there were many inconveniences 

for the Amarnath pilgrims.

1. Cowardly

2. Unimportantly

3. Unfortunately

4. Scholarly

5. Heavily



The following question has two blanks, each blank 

indicating that something has been omitted. Choose the set 

of words for each blank that best fits in the context of the 

sentence.



Here is a case to be made for the Centre to give telcos relief 

by _________ spectrum payments and reducing the burden 

of high telecom __________.

1. Advancing, Grants

2. Hindering, Engagement

3. Deferring, Levies

4. Offering, Evolution

5. None of these



India has been unable to ___________ the philanthropic 

potential of its diaspora because the latter perceives the 

development sector to be corrupt and inefficient, and is 

___________ by regulatory constraints and unfavourable tax 

policies.

1. Discover, Afraid

2. Leverage, Overwhelmed

3. Respond, Vibrant

4. Deduce, Crippled

5. None of these



The vast majority of alcohol consumers are occasional 

drinkers; hence, if any __________ are placed in their path to 

consumption, many of them will __________ their drinking 

behaviour.

1. Hurdles, Curtail

2. Incentives, Abandon

3. Fallacy, Buoyant

4. Conformity, Rebel

5. None of these



While the financial strain on telcos and churn in the market 

may make regulatory intervention __________, a heavy-

handed approach would be __________.

1. Delusion, Celebratory

2. Panic, Accelerated

3. Tempting, Counterproductive

4. Ambush, Criticized

5. None of these



The lawyer took the rare step of reading part of her __________

aloud from the bench, __________ in the special collar she 

reserves for such occasions.

1. memoir, hung

2. mind, drape

3. dissent, clad

4. confusion, looking

5. None of these
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